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Plot Sensor and FgRec Data
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Trend plot forP3-11_0
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11:00 300 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
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TERRHLER 2 STEEART (195.0 :

ZRIALBRERE156. 0 ml.

156.0), AEEHT—@ % XA HS
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=44 (2025-05-16)

150 A

100 A

50

(¢
200 A

100 A

1.0

VI, VOUBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1950
1700 1600 560
242 123

40
Warning: lcol [FVI',| "FVO’'] missing 80

s Vi —_— M_E
FRV maxM

- 2000

- 1000

"%

=~

- 25

M_E

- 20

- 15

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

3004 Bylnit @47 16:11: ET=1467 Fg=1950.0 Ro=519.0

200 -

100 A

- 2000

- 1000

|l

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

01X = (%= (%[ B | BA | 5 | 5 | F5 | 5 | 5 | Fs | F5 | BF | BF | BF | BF [ BE [ RE | °fRN [ AR [ MR [ M [ M [ M
200 -

100 A

ByEt @44 19:06: ET=1338 Fg=1590. 0 Ro=nan

L 4
PS

- 2000

- 1000

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

01X E (%= [ BB | BB | BR[| R | A5 | BS | BT | B | B |ER|EC|ZR|ZE|ZE|FE %5 H [KW[/@[XW|

200 - .
(- ———

100 I -~ :

ByWoFv @D47 16:11: ET=1123 Fg=1500. 0 Ro=341.0 !

- 2000

- 1000

1.0

0.8

0.6

0.4+

0.2~

%% | B | BB | BB | 5 | #F | BS |BR|BR|BE|ZE|ZE|ZE|ZE(ZE[(ZE (25 B [KWm[/IE| K| B

0.0

1500 A
1000 ~

500 A

80 -

ol

404 @ RH_obs

—_—
[ ] | _obs
—@— PPFD obs

—— RH

[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



18.

18.

18.

18.

17.

17.

18.

18.

17.

17.

24.

24.

23.

23.

22.

22.

19

18

17 A

16

T T
600 800

m=635,m FV0=0

75 -

50 A

25 A

00 -

75 -

50 A

——

6&0 6&5
m=845,n FV0=0

845

8é0 865
m=465,n FV0=0

——

465

470 475

16.

16.

16.

16.

15.

19.

18.

18.

18.

18.

18.

18.

18.

17.

17.

17.

26.

25.

25.

24.

24

m=465, FV0=0
—.—
465 470 475
m=690,m FV0=0
—o—
690 695 700
m=890,m FV0=0
—o—
890 895 900
m=515,m FV0=0
—-—
515 520 525

m=515, FV0=0

18. 00 -

17.75

17.50

17. 25 ~

17. 00

16. 75 -

515

5é0 5é5
m=745,n FV0=0

18. 8

18.6

18. 4

18. 2 A

18.0

17.8 4

——

760 7%5
m=960,n FV0=0

18. 2

18. 0 ~

17.8 A

17.6

17.4 4

9é5 9%0
m=580,n FV0=0

26.0

25.5 -

25.0

24.5

24.0 -

23.5 A

——

580

585 590

m=580, FV0=0

18. 4 -

18. 2 4

18.0 4

17.8 A

17.6 -

17.4 4

M_E

5é5 5é0
m=800,n FV0=0

18. 2 4

18. 0 A

17.8 4

17.6 -

M_E

T
805 810

27 A

26 -

25 -

24

23 A

22 A

660 860 10b0
m=635,n FV0=0

26.0

25.5 A

25.0 -

24.5 -

24.0 -

23.5 A

-o— MW

640 645



26.

25.

25.

24.

24.

23.

26.

25.

25.

24.

24,

m=690, FV0=0

—-— MW

690

T T
695 700

m=890,m FV0=0

—— MW

890

T
895 900

26.

25.

25.

24

24.

23.

27.

26.

26.

25.

25.

24,

m=745, FV0=0

—0—

M_w

745

T T
750 755

m=960,m FV0=0

—0—

M_W

960

965 970

m=800, FV0=0

26.0

25.5

25.0 -

24.5 -

24.0

23.5

—0—

M_W

800

T
805 810

m=845, FV0=0

26.5

26.0

25.5 ~

25.0 A

24.5 A

24.0 -

—0—

M_W

845

T
850 855




hour

:00 -

120 -

140
:40
125
110
:05
:00
:00

&S

100

80

- 60

- 40

20



P3-11

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:15 294 150.0 (2 =| 1Ri%e07:15 Bzh (kEBERSE)
07:20 294 150.0 |Z=| 1Ri&e07:20 Bzl (GRAHEEEE)
08:50 294 150.0 |Z=| 1Ri&@08:50 Bz (KPB{EEE)
09:50 294 150.0 FA| {RRi%@09:50 Bz (FRAEREE)
10:40 294 150. 0 B {BRi18010:40 Bz (RP1ERE)
11:40 294 150.0 BE| BRigel1:40 Bz (GGREAERSE)
12:25 294 150.0 S| Rige12:25 Bz (REAERESR)
13:10 294 150.0 Bl Rige13:10 Bal (REAEHE)
14:05 294 150.0 S| Rige14:05 Bz (REAEHE)
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